




































Assignment 7

Group 5: Apurv & Sanjay

Question

11. If A and B are two n× n non- singular matrix, show that adj(AB) = adj(B)adj(A)

Solution

Given: A and B are non singular

⇒ A−1 and B−1 exists, and is given by

A−1 =
adj(A)

|A|
(0.0.1)

Where |A| is the determinant of A, we note that it is a scalar, so taking it to the left side.

|A|A−1 = adj(A) (0.0.2)

Similarly |B|B−1 = adj(B), going a step further,

adj(AB) = |AB|(AB)−1

= |A||B| B−1A−1 ∵ |AB| = |A||B| and (AB)−1 = B−1A−1

= |B|B−1 |A|A−1 ∵ Determinant is a scalar, order can be interchanged

= adj(B) adj(A) ∵ From Eq.0.0.2 Q.E.D
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